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1. Which of the following is non -

terminating, but recurring

decimal ( )

A) 
15

9
B) 

16

15
C) 

343

27
D) A & B

2. ).(log nm
a aa ( )

A) 
mn

1
 B) C) mn   D)

3. L.C.M of a and b is ab, then their  H.C.F

is_________ (a>1,b>1) ( )

A) 
2

ab
B) a+b C) 1 D)

4. A-B has 2 subsets,       has 4

subsets, B-A has 8 subsets then

n(AUB)= ( )

A) 6 B) 8 C) 10 D) 14

5. If A and B are disjoint sets then

A-(A-B)= _________ ( )

A) A B) B C) AUB D)

6. A ={x/x=x, x      R} is what type of set?

( )

A) Null set B) Finite set

C) Infinite set D) both A & B

7. The degree of 2020 ( )
A) 2020 B) 0
C) 1 D) Not defined

 
  
A

15

9
B

16

15
C

343

27
DA & B

 ).(log nm
a aa  

A
mn

1
   B       Cmn     D

 a,bab,
(a>1,b>1)  
A

2

ab
Ba+b    C    D

 A-B 
B-A 
n(AUB)   
A6 B8 C10 D14

 A  B   
A-(A-B)=  
AA BB  CAUB      D

 A={x/x=x, x  R}   
  
A        B
CDA&B

  
A B
C D
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   P(x) = x3-7x+6

  a,b,c 
a3+b3+c3=  
A B C D

 p(x) =ax2+bx+c    
    
b+c =_____  
A BaC-a D1

10. ( 3 +2, 3 -2) 3x-3y = k
    ‘k’ 
  
A6 3   B) 6 C) 12 D) 0

11. a x + b y + 1 2 = 0 , 2 x + 3 y + 4 = 0

   
a2+b2 = ( )

A) 100 B) 81 C) 144 D) 117

12. 7     

    

  
A B

C D

 x2-5x+3 = 0  
  
A
B
C
D

8. If a,b,c are three zeroes of cubic

polynomial P(x) = x3-7x+6 then the

value of a3+b3+c3= ( )

A) -18 B) 18 C) 0 D) 343

9. If the sum of the zeroes and prod-

uct of the zeroes of p(x) =ax2+bx+c

are equal then b+c =_____( )

A) 0 B) a C) -a D) 1

10. Find ‘k’ if ( 3 +2, 3 -2) lies on the

line 3x-3y = k. ( )

A) 6 3    B) 6 C) 12 D) 0

11. ax+by+12=0, 2x+3y+4=0 are de-

pendent lines then a2+b2 = ( )

A) 100   B) 81 C) 144 D) 117

12. IF the cost of 7 pens and 9 books

is Rs.420 and the cost of the same

type of 9 pens and 7 books is

Rs.380 then find the cost of 1 pen

and 1 book. ( )

A) Rs.60 B) Rs.50

C) Rs.30 D) Rs.90

13. The roots of quadratic equation

x2-5x+3 = 0 are ( )

A) Not real numbers

B)Rational Numbers

C) Irrational Numbers

D) None
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14. 4,x2,x2+x+2 are the first three terms

in A.P (x>0), then the 4 th term is

( ) A) 5 B) 9C) 19

D) 14

15. The roots of quadratic equation

x2-14x+48 = 0 are dimensions of

rectangle. Then its length of

diagonal is ( )

A) 8 units B) 6 units

C) 12 units D) 10 units

16. In A.P, the sum of the first ‘n’ terms

is 4n-n2 then the common

difference is ( )

A) 3 B) 1 C) 2 D) -2

17. In G.P, 17 th term = 18, 33rd term =

32, then 25 th term = ( )

A) 24 B) 25 C) 26 D) 27

18. If cos00, sec450,cosec300 are in G.P

then common ratio is ( )

A) 2 B) 
2

1
C) 

2

1
4) 2

19. The distance between the points

( 3 cos650,0) and (0, 3cos250) is( )

A) 9 B) 3

C)  9cos2250+cos2650 D) 6

20. The slope of the line which is

paraller to x - axis is ( )

A) 1 B) 0

C) |x
2
-x

1
| D) Not defined

 A.P    
4,x2,x2+x+2 (x>0) 
  
A B C D

 x2-14x+48 = 0  

  
Aunits Bunits

Cunits Dunits

 A.P   ‘n’  
4n-n2   
A B C D

 G.P 
  
A B C D

 cos00, sec450,cosec300 G.P
 
A B

2

1
C) 

2

1
D) 2

19. ( 3 cos650,0) (0, 3cos250)

  
A B

C9cos2250+cos2650 D) 

20. x -    
  

A B

C |x
2
-x

1
| D) 
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21. In which ratio does the point (2,3)

divide the line joining the points

A(6,9), B(-6,-9)? ( )

A) 1:2 B) 2:1 C) 2:7 D) 3:2

22. If    ABC~  PQR, If sin(A+B) =
2

3

then )
2

sec(
R

= ( )

A) 2 B) 
2

1
C) 

3

2
D) 2

23. In   ABC,DE||BC, AE:EC = 2:3 then

the ratio between areas of  ABC

and trapezium BCED is ( )

A) 25:21 B) 21:4

C) 4:9 D) 4:25

24. The height of the equilateral

triangle is 3 3  Cm then its Area

is ( )

A) 3
4

27
 cm2 B) 327  cm2

C) 
4

9
 cm2 D) 39  cm2

25. A incircle touches sides AB, BC,

CA at P,Q,R respectively in  ABC

If BC=7 cm, AR=4cm, then the

perimeter of    ABC is ( )

A) 11 cm B) 15 cm

C) 18 cm D) 22 cm

21. A(6,9), B(-6,-9) 

  
A B C D

 ABC~  PQR,sin(A+B) =
2

3
 

)
2

sec(
R

= ( )

A) 2 B)
2

1
C)

3

2
D) 2

23.  ABC DE||BC, AE:EC = 2:3
ABC   BCED

  
A B
C4:9 D) 4:25

24.     
3 3  Cm 

A 3
4

27  cm2 B) 327   cm2

C)   
4

9
cm2 D)  39 cm2

25.   ABC  AB, BC, CA

     P,Q,R    
BC=7 cm, AR=4cm 
ABC  
Acm Bcm

Ccm Dcm
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26. The angle between radius and

tangent to a circle at point of

contact is     the   value of

log(Tan(  )) = ( )

A) 1 B) 0

C) 3 D) undefined

27. The dimensions of a cuboid are the ze-

roes of p(x) = 2x3-5x2+14x+8 then T.S.A

of cuboid is = ____ Sq. units ( )

A) 5 B) 14 C) 7 D) 12

28. If the volume and total surface area

of a solid hemisphere are equal in

magnitude then its

diameter is ( )

A) 9 units B) 8 units

C) 6 units D) 4.5 units

29. If the radius and height of the cyl-

inder are equal then the ratio

between T.S.A and L.S.A of

cylinder is ( )

A) 3:1 B) 2:1

C) 1:3 D) 3:2

30. If cos  =
2

1
, then cos(  ) = ( )

A) 
4

1
B) 1 C) 

2

1
D) 

2

3

31. If log(tan ) = 0.5 x log3 then

( )

1) 00 2) 300 3) 600 4) 450

32. If cosec  = 10  then sec  =( )

1) 
3

10
2) 

3

1
3) 2 4) 

3

2

    
   
  0  log(Tan(  ))

  
A B
C 3 D

 p(x) = 2x3-5x2+14x+8 
   

A B C D

 
   
      
  
Aunits Bunits

Cunits Dunits

 


  
A B
C D

 cos  =
2

1 cos(  )  
A

4

1
B C

2

1
D

2

3

 log(tan ) = 0.5 x log3 
 

A00 B300 C600 D450

32. cosec  = 10 sec ( )

A) 
3

10
B) 

3

1
C) 2 D) 

3

2

0.
0
2

0
2

0
2

0 0
2

0

0 0 0 0

0 0
0 0
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33. Expressing the value of “sin  ”in the

terms of sec ( )

A. B.

C. D.

34. If a person observes top of the tree of

height 20 mts at the angle of eleva-

tion of 450. The distance of the per-

son from foot of the tree is ( )

A. 20 3  mts B. 
3

20
 mts

C. 20 mts D. 
3

40
 mts

35. The father of Indian Statistics is ( )

A. Sir Ronald.A.Fisher

B. P.C. Mahalanobis

C. Brahma Gupta

D. Srinivasa Ramanujan

36. The median of first 50 whole

numbers is ( )

A. 25.5 B. 26.5

C. 24.5 D. 25

37. The mean of first ‘n’even natural

numbers is 2020 then n= ( )

A. 2020 B. 2019

C. 2018 D. 2021

33. “sin  sec   
 ( )

A. B.

C. D.

 
      450   

  

A 20 3  mts B
3

20
 mts

C 20 mts D
3

40
 mts

   
A. 
B. 
C. 
D. 

   
A B
C D

 ‘n’
n= ( )

A. 2020 B. 2019

C. 2018 D. 2021

0” 0

0sec2  - 1

1

sec
sec2   - 1

0
0

0sec2  - 1

sec0
01- sec2

0

0

sec
sec2   - 1

0
0

0sec2  - 1

1

0sec2  - 1
sec0

01- sec2
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38. An event having only one outcome

is called ( )

A. Sure event

B. Elementary event

C. Impossible event

D. None

39. If two dice are thrown at a time,

then the probability that the differ-

ence of two numbers appeared on

their faces is “2” ( )

A. 
18

1
B. 

18

5
C. 

9

4
D. 

9

2

40. 10 coins are tossed at a time, the to-

tal number of outcomes is ( )

A. 20 B. 2020

C. 10 D. 1024

41. Among the given below, which  one

has maximum specific heat? ( )

A) Zinc B) Mercury

C) Aluminum D) Iron

42. Which product is manufactured

from the substance obtained at the

cathode during electrolisys of

braine solution? ( )

A) Water Purifier B) Detergents

C) Ammoniya    D) PVC

 
  
A
B
C
D

      
         
     
  

A
18

1
B

18

5
C

9

4
D

9

2

40. 10     

  
 
 

 
  
A B
C D

     
   
          
  
A B
C D

Physical Science
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43. At certain incidence angle, the

refracted ray pass through

differentiating medium, then that is

called ( )

A) Reflex angle

B) Total internal angle

C) Refarative angle

D) Critical angle

44. What is focal length? ( )

A) Distance between focal point

and pole

B) Distance between focal point

and centre of curvature

C) Distance between centre of

curvature and pole

D) A and B

45. What should be the scattering

angle to get maximum intensity of

light ( )

A) 00 B) 300 C) 450 D) 900

46. Who proposed the “ Quantum

theory” ( )

A) Neels Bohr

B) Erwin schrodinzer

C) Maxs Carl plank

D) De Broglie

47. Choose the correct answer by

given statements ( )

Statement 1. The resistance of human body
is between 100 ohms to 500000 ohms

Statement 2.The required current to mal-
function of heart is 0.09A

A) 1 and 2 are true B) 1 false, 2 true

C) 1 and 2 are false D) 1 true, 2 false

 
         
  
  
A
B
C
D

   
A

B
C

DAB

 
  
A B C D

  
A
B
C
D

    
  






 0.09A
A
B
C
D
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    
      
  
 
 
A B
C D

   
  
A B

C DA B

 
 
A
B
C
D

 cgc

gkg


  
A) 400c B) 460c

C) 350c D) 540c

     
   
  
A B
C D

48. Rearrange the following ores in

desecnding order of reactivity?( )

1) Galena 2) Limestone

3) Carnalite 4) Horn silver

A) 4,1,3,2 B) 2,4,1,3

C) 3,2,1,4 D) 1,2,3,4

49. What is the units of magnetic flux

density? ( )

A) Weber/m2 B) Tesla/cm2

C) Tesla/m2 D) A and B

50. Which cancer cell is destroied by

the using of Buckminster fullerene?

( )

A) Lung cancer

B) Melanoma

C) Leukamia

D) Thyroid cancer

51. 500 g of water at 500c and 300g of

water at 800c are mixed with 2 kg

of water at 400c. Find the resultant

temperature of the mixture ( )

A) 400c B) 460c

C) 350c D) 540c

52. Which of the following is generally used

to prepare sodium ethoxide? ( )

A) Alcohol B) Aldehyde

C) Ether D) Acid
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53. Which alloy metal is used to make

Rs.2  coin? ( )

A) Cupro Nickel

B) Ferro manganese

C) Ferratic stainless steel

D) Ferratic Nickel

54. Match the following ( )

1. Liquation a.Slag over sur

face

2. Distilation b. Melting point

3. Poling c. Anode mud

4. Electroysis d. Boiling Point

A) 1-b, 2-a, 3-d, 4-c

B) 1-b, 2-d, 3-a, 4-c

C) 1-b, 2-d, 3-a, 4-a

D) 1-c,2-d, 3-c, 4-a

55. The angle of vision and focal length

of eye of human being is ( )

A) 600, 2.5 mm B) 450,2.5mm

C) 600,2.5cm D) 300,2.5mm

56. Choose right one of the following ( )

R: Oxygen is evolved in photosyn-

thesis. S: Plants release oxygen

only in the presence of light

A) R is true, S is false

B) R is false, S is true

C) R is true, S is right explana-

tion for R

D) Both R, S are false

 
  
A
B
C
D

   
 a.
 b.
 c.
 d.
A) 1-b, 2-a, 3-d, 4-c

B) 1-b, 2-d, 3-a, 4-c

C) 1-b, 2-d, 3-a, 4-a

D) 1-c,2-d, 3-c, 4-a

    
  
A) 600, 2.5 mm B) 450,2.5mm

C) 600,2.5cm D) 300,2.5mm

        
  
R: 
 S:

AR S 
BR S 
CR S  R

D R,S 

 Biology
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57. Which disease occurs when there

is repeated child births? ( )

A) Marasmus B) Kwashior Kar

C) Obesity D) Blindness

58. Choose right order ( )

i) Diaphragm contracts - chest

cavity volume increases

ii) Diaphragm contracts - chest

cavity volume decreases

iii) Diaphragm expands - chest

cavity volume increases

iv) Diaphragm expands - chest

cavity volume decreases

A) i B) i and ii

C) ii and iii D) iv

59. Choose correct statement ( )

R: After doing vigorous exercises,

lactic acid produced in muscles.S:

Due to accumulation of lactic acid

muscle pains are formed

A) R is true, S is false

B) R is true, S is correct explana

tion for R

C) R is false, R is right explana

tion for S

D) Both R, S are false

 
    
  
A       B
CD

   
i) 

ii) 

iii) 

iv) 

A) i B) i and ii

C) ii and iii D) iv

   
R:  
     
S:
   

AR S 
BR S  R

CR R  S

DR, S 
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60. Choose the correct order ( )

A) Glomerular filtration - Tubular

secretion - Tubular reabsorption -

Hypertonic urine

B) Tubular Secretion - Glomerular

filtration - Tubular reabsorption -

Hypertonic urine

C) Glomerular filtration - Tubular

reabsorption - Tubular secretion-

Hypertonic urine

D) Tubular reabsorption - Glom

erular filtration - Tubular secretion

- Hypertonic urine

61. Which part of the spinal cord con-

trols muscular activity? ( )

A) Dorsalroot B) Middle Part

C) Ventral root D) Inter neuron

62. The tissue which is connects with

uterine tissue make up the

Placenta? ( )

A) Allantois B) Yolksac

C) Amnion D) Chorion

63. In which of the phase, DNA syn-

thesis occurs in cell cycle ( )

A) G
1
 Phase B) G

2
 Phase

C) S Phase D) M Phase

64. In which part, Second brain is

present in our body? ( )

A) Head B) Leg

C) Neck D) Abdomen

   
A


B


C


D



    
  
A      B
C       D

 
       
  
A B
C D

     DNA

  
AG

1
  BG

2 


CS  DM 

 
  
A B
C D
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65. If any changes/mismatches occurs

in DNA translation, what happens?

( )

i) it leads to variations

ii) Characters are change

iii) They are not inherited

iv) They are inherited

A) i, ii & iii B) ii, iii & iv

C) i, ii & iv D) i, iii & iv

66. Wing of a bat, wing of a bird

indicates which type of

evolution? ( )

A) Divergent evolution

B) Convergent evolution

C) Evolution

D) None of these

67. Entry of pollutants into a food chain

is called? ( )

A) Bio magnification

B) Bio accumulation

C) Utrification

D) BOD

68. Sperm cells without tails ( )

A) not useful to fertilization

B) cannot move

C) in diploid state

D) no nucleus

69. In bitter gourd, tendrils play which

type of response? ( )

A) Phototropism

B) Thigmotropism

C) Geotropism

D) Chemotropism

 DNA     
 
i
ii
iii
iv
Ai, ii iii

Bii, iii iv

Ci, ii iv

Di, iii iv

      
  
A
B
C
D

   
  
A
B
C
DBOD

   
A
B
C
D

 
  
A
B
C
D
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70. Which of the following organisms

reproduce through parthenogen-

esis? ( )

A) Protozoans

B) Poriferans

C)Rotiferans

D) Platy helminthens

71. Which of the following is a tribu-

tary of river Ganga? ( )

A) Jhelum B) Chenab

C) Yamuna D) Ravi

72. Find out the odd one ( )

A) Konkan coast

B) Coramandal coast

C) Canara coast

D) Malabar coast

73. Find the wrongly matched pair ( )

A) Suvarnabhoomi Airport -

Bangkok

B) Indiragandhi Airport - New

Delhi

C) Rajiv gandhi Airport -

Hyderabad

D) Heathrow airport - Newyork

74. Thar desert: Rajasthan:: Nilagiri’s

hills: ( )

A) Tamilnadu B) Karnataka

C) Kerala D) Goa

75. Qiang tribe belongs to ( )
A) Kenya B) Tibet

C) South America D) Sri lanka

 
  
A
B
C
D

  
A B
C D

   
AB
C  D

  
A

B

C

D

    
  
A B
C D

  
A B
C D

 Social Studies
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76. 73rd constitutional amendment act

belongs to ( )

A) Election Reforms

B) Local self Governament

C) Mandal Commission

D) Krishna Commission

77. After the failure of .......... Gandhiji

started Quit India campaign ( )

A) Crips mission

B) Rowlath act

C) Simon Commission

D) Cabinet mission

78. What is the main benefit of mid-

day meal programme? ( )

i) Increase of the attendence per

centage of children

ii) Increase in the quality of learn

ing and achievement of competen

cies

iii) Provision of Nutritious food to

children

iv) Parent can concentrate on the

work without bothering the food of

the children

A) Only i B) i, ii & iii

C) Only iv D) All the above

79. Who was the first non congress

PM of India? ( )

A) Charan Singh

B) Morarji Desai

C) Narendra Modi

D) V.P. Singh

         
  
A
B
C
D

     
   
  
A     B
C  D

   
  
i
ii

iii
iv

Ai  Bi,ii iii

Civ  D

  
A
B
C
DV.P. 
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80. What is the appreciable feature of

globalization? ( )

i) Domination of west countries on

rest of the world

ii) Availability of quality products

iii) An opportunity for growth and

prosperity

iv) Negligence of some languages

A) i, ii are only correct

B) ii, iii are only correct

C) i, iv are only correct

D) i, iii are only correct

81. With which of the following is as-

sociated with Pydimarri Venkata

Subbarao ( )

A) National song

B) Pledge

C) National flag

D) Saraswati Prayer

82. Which one of the following is not a

Northeast state? ( )

A) Manipur

B) Mizoram

C) Meghalaya

D) Madhya Pradesh

83. What is the helpline number,

recently Andhra Pradesh

governament launched for

complaints against corruption( )

A) 14400 B) 1100

C) 1800-425-4440 D) None

    
  
i

ii
iii

iv
Ai, ii 
Bii, iii 
Ci, iv 
Di, iii 

    
    
  
A   B
C      D

     
  
A B
C D

    
   

    
  
A B
C D

& General Knowledge & Current Affairs
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84. “Tour de France” is related to which

game? ( )

A) Wrestling B) Cycling

C) Golf D) Horse riding

85. Who is appointed as India’s first Chief

of Defence Staff (CDS)? ( )

A) Karambir Singh

B) Naravane

C) Rakesh Kumar Singh

D) Bipin Rawat

86. Where was Flamingo festival held

in January 2020 ( )

A) Aaraku in Vishakapatnam dist.

B) Nelapattu in Nellore dist.

C) Vadarevu in Prakasam dist.

D) Tirupathi in Chittoor dist.

87. Which of the following has more

storage capacity? ( )

A) CD

B) 2 GB Pendrive

C) 1024 MB memory card

D) DVD

88. VIBGYOR indicates which of the

following? ( )

A) Salts in sea water

B) Atmospheric layers

C) Continents in the world

D) None of these

      
  
A B
C D

 
  
A
B
C
D

     
  
A
B
C
D

 
  
A) CD

B) 2 GB Pendrive

C) 1024 MB memory card

D) DVD

 VIBGYOR 
 

A
B
C
D
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89. Full form of ISRO is? ( )

A) Indian space research

organisation

B) International space research

organisation

C) Indian satellite research

organisation

D) A & C

90. Identify the multi talented person, who

recently passed away? ( )

A) Ravuri Bharadhwaja

B) Bala Chandar

C) Gollapudi Maruti Rao

D) Arun Jetli

91. 11x11=4 ( )

22x22=16

33x33=36

44x44=?

A) 124  B) 68 C) 84 D) 64

92. The product of two numbers is

42, and their sum is 13 then find

the difference of those two

numbers? ( )

A) 0 B) 1 C) 2 D)Can’t say

93. The last day of a month, having 31

days is sunday, then find how

many mondays are there in that

month? ( )

A) 4 B) 5 C) 6 D) 3

 ISRO   
A
B

C
D) A  C

90. 
  
A
B
C
D

91. 11x11=4 ( )

22x22=16

33x33=36

44x44=?

A) 124 B) 68 C) 84 D) 64

 
     
  
A) 0 B) 1 C) 2 D) 

     
    
  
A) 4 B) 5 C) 6 D) 3

IQ
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   

A) B)

C) D)

95.


  
A) 2 B) 5 C) 4 D) 1

96. 4x+4x+4x+4x = 4096 x
  
A) 8 B) 6 C) 5 D) 7

97.     
  

A) 16 B) 21

C) 32 D) 30

98. 
      
      
  
A) 
B) 
C)
D) 

94. Find the next picture ( )

A) B)

C) D)

95.

By above pictures, what is the

opposite number to 6? ( )

A) 2 B) 5 C) 4 D) 1

96.  If 4x+4x+4x+4x = 4096 then find the

x value? ( )

A) 8 B) 6 C) 5 D) 7

97. How many squares are there in the

following figure? ( )

A) 16 B) 21

C) 32 D) 30

98. Srinu is 1year elder than latha. Gopi

is 2 years older than srinu. Geetha is

1 year elder than Gopi. Then find who

were same age? ( )

A) Latha, Geetha

B) Gopi, Latha

C) Srinu, Gopi

D) Latha, Srinu
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99. If FAIL is written as LIAF, then how

can we wrote CLIP? ( )

A) LIPC B) ILPC

C) PLIC D) PILC

100. 121,232,343,454, ............?( )

A) 545 B) 676

C) 575 D) 565

 FAIL LIAFCLIP
  
A) LIPC B) ILPC

C) PLIC D) PILC

100.  121,232,343,454, ............?( )

A) 545 B) 676

C) 575 D) 565


